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Section A (30 x 2 marks)

For each question from 1 fo 30, four options are given. One of them is
the comect answer. Make your choice (1, 2, 3 or 4). Shade the correct
oval (1, 2, 3 or 4) on the Optical Answer Sheet.

1. Which of ihe following statements describes a iving thing
incomectly?
1) Aliving thing needs energy.
2) Aliving thing can repreduce.
3} A living thing can respond 1o changes.

4) Aliving thing coh move from one place o another.

2. Which option lists comeclly what is needed by human beings to

stay alive? _
A} | Food Waler Light warmth
2){Food | Water Coldness | Oxygen
) | Food water | Wamth -} Oxygen
?) Food Light Coldness | Oxygen

3. Which of the following statements about our body is incomrect?

1} The digestive system breaks down food info simpler

forms. :
.2} The muscular and skeletal systems enable the body

to move. ) 3
3) The circulatory system helps to transport undigested

food to the stomach. .
4) The respiratory system enables the exchange of

gases with the suroundings.




4. What must happen for an egg to hatch?

a) The egg must be fertilized.
b} The egg must be given food and water,
c) The egg must be kept warm by the hen for 21 days.

1} aandb only
2) .aandc only
3) bandconly
4) All of the above

Look at the family free below and answer Questions 5 and 6.

Ah Teck Dolly 7 : Piere Rosy
 O—5—0 O—o0
5 4 4 =
Dory Dora Dave Suzie Steve
5 o &
. Harmry Peter Marv
Key
[ Male
O  Female

5. Who are Peter's parenis?

1) Pierre and Rosy
2} Dave.and Suzie
3) Hamy and Mary
4) Ah Teck.and Dolly

6. How many siblings does Dave have?

1} Dave has 2 sisters.

2} Dave has 3 sisters.

3) Dave has 1 brother and 1 sister.
4) Dave has 2 brothers and a sister.



/. Whatis needed by a seed 1o geminale?

a) Air

b) Light

c) Water
d} Warmth

1) aand c oniy
2} a,candd only

3) a.bandconly

4) Al of the above Il

8. Waler from undigested food is absorbed into our bodies. Which
part of the digestive system performs this function? :

1} Mouth.
2} Stomach.
3) Small intestines.

4) Large intestines. -

9. Look at the table below.

Group X Group Y
" Cow Lion
Sheep Hawk
Grasshopper frog

The animals are grouped according o

1) where they live

2} what they feed on

3) the number of stages in their life cycles
4) whether their young looks like the adulis




10. Look al the following kfe cycles below. Which fle cycle is drown
incomeciy?

11. Which of the following shows the corect fife cycle of a tiowering
plant?

1

3




12. Which of the following comparisons befween respiration and
photosynthesis is corect?

Respiration : Photosynthesls
1) | Cariied out by only animals Carried out by only plants

2] { Occurs only at night Occurs only during the day
3) | Requires oxygen Produces oxygen
4) | Requires light energy - | Requires light energy

13. Wendy cut off the roots of a celery stalk and placed the sialk }n a
_beoker of red-coloured water as shown.

What could Wendy have observed after 24 hours?

1} There was no change in the colour of the celery stalk.
2) Only the stem started to turn red.
3) The whole celery stalk tumed red.

4} Only the leaves started to tum red.




4.

Study the chart below.

Which optionis a suitable position to classify paper?

1) A

2) B -
3) C -

4 D

- a) Styrofoam can float on waier.

b} Styrofoam dqes not break or tear easily.
<) Styrofoam is light so it can be camed easily.

d} Styrofoam is soft 50 it would not injure anyone.

1) a.bandc only
2} acandd only
3] b,candd only
4) All of the above.



146. Germaine wants 1o demagnetlse @ magnet. Which methods listed
below can she use?

a) By healing the magnet.

b) By dropping the magnet.

C) By passing electricity through the magnet.

d) By stroking the magnet with a non-magnetic material,

1} aandb only

2} canddonly

3} b, canddonly
4) Al of thHe above,

17. Which of the following diagram shows the ;-)ath of light after it has
been reflected by a mirror?

1) %orch 2) %orc h

L

Mimo Mimror

3) %orch 4) %orch

/

L 1 Mirror[

Mirror




8. During o Science lesson, Annoh shone a farchiight at the objec)
shown Below,

-
Which ol the following shodows cannol De"’é&si by lhe objeci
Delow?
1) 2)
3) 4)

{2l

(4]

Which parl of the plant enables the plant 1o reproduce?



20. Why does a cooking pot have a plasiic handle?

21.

plasiic
handle

cooking
pot

1} Piastic is a cheap material.
2} Plastic is a strong material.
3) Plaslic is an insulator of heal.

4) Plaslic is pleasant to the touch.

Charmaine has a fever. Which is the mosi suitable method for
checking her body temperature?

1) By using a clinical thermometer.
2) By using alaboratory thermomeier.
3) By asking someone else to feel your forehead.

4) By using a temperature sensor with a datalogger.




.

22,

24,

Study the foliowing lable,

—

Has definite Has defrita
" __volume? shape?
A e - T Mo
B __No Ves
L Yes Mo
|D | Yas Yas

Which oplion describes a folid?

1
2)
J)
4)

Which of the following methods con be used to find the mess of

A
B
c
D

the rock?

aj lsing a lever balance.

b) Using an eleclronic scale,

<} Pulling the objectina measuring cylinder with some waler.

]
2)
3)
4)

Which of the following groups consisis of only light sources?

1) Sun, Moon and Earth

a and b only
aand ¢ only
b and c only

All of the obove

2} Diamond, fire and lightning
3) Miror, Televiion and torchiight
4] Light bulb, car headlights ond star

10



25. Study the following diagram.

26.

heat gain

4]

heat toss

C

A. B and C are different states of water. Which oplion comectly
identifies A, B and C?

A B C
1) 1 Solid Liquid Gas
2) | Liquid | Solid Gas
31 Gas Liquid Solid
4) | _Solid Gas Liquid

Adam took a box that ean contain 3 litres of water. He pumped 1
litre of waler info the box. He then pumped 400 cm? of air into the

box. This is possible as

1)
2]
3
4

air can be compressed

air has no definite shape

waler can be compressed

water has no definite shape

11

L

1 litre ;f water and
400 cm® of air

pumped in




27, Which of the following groups conltains only magnelic maternal?

1) Gold, kon, Steel
2] kon, Nickel Steel

J) Gold, Mickel Siver

1) Alurminium, Coball, on

- —
-

28, It a reely-suspended magnet is allowed to come 1o a rest, it will
always point in a direchon.

o e I

1] EBasl-Wesl
2} Morth-East
3] Morth-West
4) Morh-South

23. Which of the following groups consists of only opaque malerials?

1} Wood, glass and clolh.
4} Melal, wood and cardboard.

d] Tracing paper, stone and metal,
4] Frosted plastic, frosted glass and cardboard.

12



30. John puts three blocks, made of different materials, under the sun
as shown in the setup below. After 30 minuies, he measured the
surface temperature of each block.

Ay
<] =
A

1 |
0

SR R

Glass Metal Styrofoam
block block block

What is the purpose of his experiment?

He wants to find out

1) whether air expands when heafed
2) how heat fravels through the blocks
3) which maierial is a good conductor of heat

4) how fast water can evaporate from the blocks

— —— End of Section A — — —

13




TAO NAN SCHOOL

PRIMARY 4 SCIENCE YEAR-END EXAMINATION — 2008

- Name; ( ) Date: 23 October 2008

Class: P4 Time: 8.00 a.m. to 9.30 a.m.

BOOKLET B

INSTRUCTIONS TO CANDIDATES -

Do not open this booklet ynfil you are told to do so.
Follow all instructions carefully.

Answer all questions.

Score Marks
Section B ' 40




Section B (40 marks) . . : o
For questions 31 to 46, wilte your answers In the spaces provided.

31. Classify the following objects in the table below under the correct
headings. {2 marks) '

powder pgper
carboprdioxide maist
Solid Liquid Gas

32. Jenny is jogging on the track.

Name all the organ system(s) that enable ﬁer to camy out her
activity.

(2 marks)

14




S by
* wings formed * looks round and discovered some
» flies around a lot fat white and round
* very hard to keep * does nothing but objects in the nest
track of it €ats non-stop
— ¢ hardly moves I
around much ()
) . ' * seems to be building a
® secms to be building nest with another
a cocoon insect _
* Wwonder what will *  this other insect may
happen next be the opposite gender
] ]

{q) Help Ross to amange the notes in order of their fife cycle by
labeliing it {a) to {e} in the boxes below. One of the stages has

been done for you. {2 marks)
Stage 2;

R

|
fo Man, at which stage would you be most successful in
destroying it? Explqin your answer. (1 marks)

15



34. The diagram below shows part of the human body.

A

(a) Use the appropriate letters (A to J) from the diagram above. Write
down in the cormrect order, the internal organis) involved in the
digestion of food. {Imark) '

(b} What is the function of the part labelled D? {1 mark)

{c} How does the part in (b} work with Hin the digestive system?
. {1 mak}

16




35. A fraffic police officer wears a special vest, shown below, with
reflective stips while directing traffic at night.

Reflectve Strip

How do the reflective stips help keep the officer safe while
directing fraffic at night? (2 marks)

17



36. Kelly set up the following experiment. The thumbitacks are held
onto a metal rod by wax. Kelly iit the candle and observed the
setup for 30 minutes.

Thumbtack Metal Rod
) ]
A B C .- D

Candle

(@} Afier 30 minutes, all the thumbtacks dropped. In which order
would Kelly observe the thumbiacks dropping? Write the letiers in
the boxes below. (2 marks)

[Note — The setup is drawn to scale.)

First ' » Llast

{b) If Kelly was to repeat the experiment with a wooden rod instead
of a metal rod, would she observe the same resulis? Expiain your
answer. {1 marks)

18 .




37. Study the chart below.

, Material

y

Is heavy? |

J,YGS

No Issoft? | 1S5, p

Can break No . No
2
easily? — is shiffz — > Q
lYes Yes
R Is sfrong? Yes, s

[

T -

Based on the.chart above, state one similarity and difference
between material R and S. {2 marks)

Similarity:

Difference:

19



38.

(a)

{b)

39.

Taufik was given a magnet and 4 objects. He wanted to find out if
the objects were magnets. He brought the magnet close to each
of the objects and recorded his observations in the table below.

Observalions
Object A Moved towards magnei
Object B Moved towards magnet
Object C Did not move at all
Object D Moved away from magnet

Taufik then stated, “Objec’r;A and B must be magnets as they
were atiracted by the magnet.”
Do you agree with Taufik's statemeni? Explain your answer,

{1 mark}

Which of the _objects is/are definitely magnet(s)? Explain your
answer. {1 mark) '

Duncan was sleeping at night when ‘he woke up at about
midnight. Before he switched on the lights in his room, he noliced
he was able 1o see some of the furniture in his room but not very
clearly. He then made the following statement.

“| can see withoulbswitching on the lights in my room because my
eyes give off light so bhcan see the furniture in my room.™

Do you agree' with Duncan's statement? Explain your answer.
- {2 marks)

20




Totally filled with Totally filled
a cold liquid with cold air

Boiile A Botile B

{a) Explain what Caused-Botite A to crack. {2 marks)

' {b} Expidin why Botile B did not crack at all. {2 marks)

21



41.

Four iowels of the same material and size were folded in differenf

i

ways. They were hung out to dry at the same place. The /
experimental set up is shown below.

Toj—igrj] ” Towel B ﬂ

Based on the expenment above, pdt a tick (V) in the appropriate

box against each stafement in the table below. (2 marks)
, i " [ Not
Statements True —| False | possible
to tell

(a) ' -

The amount of expofed area of

the towels affects/the rate of

drying.

(b

Towel C will tdke a longer time 1o
dry than toyel A.

rFd

(c)
Towel will absorb the most
amoyht of water.

1 towels.

(d *
e wind caused the rate of
drying to increase in all the

22




42. Fiona boiled a pedker of water for 15 mi es. She measured the
lemperaiure of The water with a thermometer and plotied the

following graph using her measuremenis.

Temparaturs *¢

Minutes

(@l At which point did the water starf to boil? (1 mark)

(b}. What could Fiona have done to cause the temperature to drdp
from Poini C to Point D? [t mark) -

23



44, Christopher set up the following experment 1o test the rate of
evaporation of 3 different liquids. '

[ 1 10 om? 1 150 cm?

. :

Container A Container B Container C

After leaving the beakers out in the sun for 4 hours, he recorded
the following observations.

Observation 1 - Liquid A evaporated faster than Liquid C.
Observation 2 — Liquid B evaporated slower than Liquid C.

Using the above observations, draw the water level of the 3
different liquids in the beakers below. {3 marks)

T 150 cm? - 150 cm? - 150cm®

. ]
Container A Container B . Container C

25




43. Rosie had the following setup. She wants to get the beam of ight
from the torchlight to shine onto the screen by entering through A
and exiting through B using 4 mirrors.

i
-Torchﬁghf___-—; *I

Screen

Use [ ] torepresent a mirror

(A} How should Rosie position the mirrors? Draw your answer in the
diagram above. {2 marks)

(b) What property of fight does the above setup show? (1 mark)

24



Look at the diagram below.

==

Draw the shadow cast by the tire in the space provided below.
{2 marks)

26




46, Gurait conducied some tests on Materials A, B, C and D and
recorded his resuit in the table below.

A B C . D
Does it break when No Yes No Yes |
dropped? 7
Can it stretch? No Yes Yes No
s Is it flexible? Yes No Yes No
Is it waterproof? Yes Yes No No

{a} Which material should Gurmit use 1o make a T—shir‘y’?’ Explain )four
answer. {1 mark) '

{b) Would you use Material B to make a toy for a baby? Explain Ayour
answer. {1 mark) '

-—-——End of Section B — — —
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for a period of time, hence, you can dest

32)Itis the mugcular sysiéiﬁ, skeletal syst

and cnrculaterysystem

33)a)l:c 2:b 3d ifilf'a_ 5.
b)Egg. ‘ S o
C)At stage B. It is the only time wherni he insect is not moving

it quickly and'easily.

34)a)8,C,D,H o
. b)Itis called the stomach. It contains diges
makes the food partially digested. e Lo
C)After the food is'digasted in D, thé food moves to H to™

ive ]Ulcesthat

: complete digestion-of the food." b

35)Light from the car read light reflect on the reflective strips. The

reflective light fron:; the reflective strip reflects to the driver's eyes,
allowing them to see.
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36)a)B,C, A, D
b)No. wood is a poor conductorof heat.

37)Similanty: They are both heavy.
Difference: Material B breaks easily but material S does not

break easily.

38)a)No. object A and B could be a magnetic object instead of a

magnet.
b)Object D. Only magnet can repel another magnet.

39)Light from outside the room enters the room and reflects off
the fumiture and reflects on Duncan’s eyes. -

40)a)The cold liquid in Bottie A cause it to expand, since it has no
space to expand, it pushes itself out and caused the bottle to crack.

b)Although the cold air did expand when heated, the air in the
bottle still can be compressed.

41)a)T b)T o7 d)Not

42)a)Point B.
b)She added more water.

43)a)

T=O

Torchlight '
Screen
e
K | B

b)Light travels in a straight line.
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44)

- 150 crm®

45)

- 150 omn?

1th) @) Matesial C. T con he g‘(vo[}j}\jreﬂa&
By NO The. peiteral herds, when T :SAFOPPQ({.J which

}\Qpper\ W« h&h‘\j hardles 7T1.

T 150 cw’

will moct hkdj
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